N Sl M "' T 8 Modatewiowe 2%
= s S— -«———~\~~<:-"
‘a'l’ 465 l/
¢ ' S
' | - Sredlica 540wt Weret co R
6 / \ 25,07 = In
2;2‘1“\?’
@(}:-mi.) = 54% \
= i S— \‘[ sl Lo \{,}"b‘w ™ Qd/'i sl = rwz‘o/’,mm/ﬂa PolXs
: : IS - " |
\5’3 ' / / ' / "::\ d/éc)j?é/i/q
T et B §ieln / —2{/:(,\} o i
“:‘t - = _ ;ﬁ; D Qb 4/ g 9D Biav O 3}:
£ / S(&‘AL {L
23 ) *’r')oM‘ O
e .
'1'____3 \ -
Q t‘ i
P
M% 1 . T T " Avm
] e - = I { =] = -
4 4 n 4 - 4 W §
% aze [9 ana pazayp 39 1, 256 il 30§ )
A A 4 A g
Aol
) R 86 L
I

/
vZuT POMIESZCREN




kol 2 | h-min=z Sk @ ch-miz
R | | h
Czajlcq mp{,u Qch‘-mln 3 L{(A]
=24k
Wé.él_;-é.cl:zi, / 7. 25/ 5 5 . 118 1 &
\oom._% P@M,Z pom. 4
R g ————— DR ST f — = = e
g 1= —

PN

RHNM-2 Moduemiowe 23

379

147

5323 N
|

N

VavTe v - schemaY




N

30y

248

b

~

R‘/ M . M/?c {/ Z wt\,\

4 8 6 Z') 288 Y { 4 ’3 [ 2IE L -
~—e e S 7",. ik ckine shom bover BN APl e, .y e o /l —— /\..._.,.
o 3 2 Z .._;l:L 0wl Q
8383 T gossr | 206 -
pom- 155 : pom. 5@70L,[ pom AF —
@:;hiaz‘/ : wys, 268 2 , e
2 =t P ) =)
2 o A3 » =ASkw
boitle 2 % al — =
24 1t il 4
B - L """"""'7"‘ )
IF e - kolizja / 14,52 » E‘ LXAS
r ) czu/mk achy _M”'—-—:"
g BN i L Ze e e R - [ i
—] - \ /@d{ ‘ / |
- iN i -
S Ny
TEreSE————— ...__....._./
gom- 154 Q Pom. /ﬂf J”")E'WLL U C?oh ~win ~//5(¢w
i por- A2 -
N ,.,/!;ib_‘?. i
S pom. 4%
N
2 = e e e S e e T T = Y gy SRS Fromer R Tt e
k 306 347 i 320 ) LTS
P A /1 4

,/
L pe
Q0
e
S P

7/

o

N
"
~

Z

7 7]
SN
~ by

/

_3'--_
™
N

7
ree
&

™\

{.:' //

3 2

TP |

")s(/ {vu '\(\‘7C



